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Which set of fractions is arranged from 82

.....................................................................

What is V0.017?

B 001 C 0001 D 00001 . :

Which shows 60 written as a product of
its prime factors?
A 3X4X5

C2X2X3X5

B2X3XS5
D2X3X3X5

lowest to highest? A 1 B 2 C 3 11
W 3571 G357 R 3 e B 30 ...
578710°20 578720710 {43% What number is halfway betwee
w13z at number is haltway between
B753 513 e
120°10°8’5 8'20° 5’10 3 and 7
Which has the same value as 97 A= gL ¢! p2
A& B & C 38 D 3% A 2 e B
30% of £}:£é'Eéﬁiﬁé{i{é{&}éﬁiéséht{:{g"é """" . A 2 of an amount is $180, What is =
club received a medal. Of these, 20% - T4 3
received a gold medal. What percentage ! of the amount? $
of the club’s competitors received a  © L T
gold medal? % 15" -Which statement is correct?
..................................................................... A 03<008 B -0.7>-06
Which is not equal to 0.327 : C 0123 > 04 D -09< -075
A 04x08 B 012 +02 : g In 1991, Cathy turned 16. At her birthday
C64r02 .. D17088 e : party she met Jade, who was also

" Which has the largest value? celebrating her birthday, Jade was 1
Al Bow Cc8% D= of Cathy’s age. On their birthday in 2011,
. TSRO S what fraction of Cathy’s age will Jade
What is the value of (0.3)2? : then be?

4
A009 BOS €06 DO . A % B C -2— D %

: There were 28 students in a class. T T
The ratio of boys to girls was 5 to 2. (17 There were 60 people at a party. ‘The ratio
Two more girls joined the class. : of adults to children was 7 to 5. Later,
What is the new ratio of boys to girls? 20 people left the party. The new ratio of
A52 BS54 C 32 D 21 adults to children was 5 to 3. How many .
..................................................................... ?

The price of a television was $600. During T‘;%S ai;?t?;ﬁlirig i;fli dtienparty

a sale this price was reduced by 10%. B 12 adults and 8 child

Which calculation gives the sale price? adults and & el Cren

A 600 — 10 B 600 — 0.1 C 8 adults and 12 children

C 600 X 0.1 D 600 X 0.9 D 15 adults and 5 children .

Wit s ity g (A packe s buoon o0t oF

add to —7? q white and blue. ) of the balloons are red
an

and g;— are blue. What fraction of the

balloons is white?

1 1 1 1
A By €3 D3




1 The fractions all have a common denominator
"~ of 40,

24
)
25
]
28
T 40
26
40 i
24 25 26 28

40° 40° 40° 40°
The order from lowest to highest is

3513 7

5°8°20°10°

¥ =9X9IX9IX9

But9=3x3
S0 =3XxX3X3X3X3X3X3X3

= 138
30% received a medal.
Of these 20% received a gold medal,

1
Now 20% = 5

So the percentage with a gold medal
=30% + 5

ol v

SR

So, in order, the fractions are

=6%
Consider the options:
0.4 X 0.8 =032

[There must be the same number of places after
the decimal point in the answer as there were
(in total) in the question.]

012+ 02=032

[0.12 + 0.20]

64+02=064+2

=32

1-0.68=0.32

[1.00 — 0.68]
-6.4 + 0.2 is the calculation that is not equal

to 0.32.

[Write each number as a decimal,]
1

==0.125

8

0.125 ]
[8)1.02040
0.16
8% = 0.08
[8 -+ 100]
1
—=01111...
9

0.11 1]

9}1.0'0'0

The largest number is 0.16.

6 (03)2=03x03
- =0.09

[There must be the same number of places after

the decimal point in the answer as there were
(in total} in the question.]

7 For every 5 boys there were 2 girls.
So 5 out of every 7 students were boys.
Now 28 + 7=4
So there were 4 lots of 7 students,
Number of boys = 5 X 4

=20 |
Number of girls = 2 x 4
: =8
Two girls joined the class.
New number of girls = 8 + 2
: =10
New ratio of boys to girls = 20 to 10
=2to1l
8 Saving was 10%
Percentage to pay = 100% — 10%
= 90%
Sale price = 90% of $600
= 0.9 X $600
= $(0.9 X 600)
. The calculation required is 600 X 0.9,
9 The two numbers multiply to —18.

. : r"
[One must be positive and one negative because

they multiply to a negative number.]
They add to —7.

The two numbers are 2 and —9.

10 V0.01 = 0.1

[Try the options to see which one multiplied by
itself will give 0.01: 0.1 X 0.1 = 0.01]

11 Try each option: :
3 X4 X5=60but4isnota prime number
so this is not the option.
2 X3 X 5 = 30 so this is not the option.
2X2X3X5=60
This is the option.
2 X3 X3 X'5=90so0 this is not the option,
60 written as a product of its prime factors is
2X2X3X5

12 [All the fractions have a common denominator
of 30.].
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The largest fraction is 30 or 5
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e number halfway between 3 and 15 18
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of the amount = $180

W =

— of the amount = $180 + 3
= $60
The whole amount = 4 X $60
= $240
2 of $240 = $240 + 3
= $80
%of $240 = 2 X $80
= $160
Consider the options: |
03<0087?
0.30 > 0.08
This option is not correct. .
~07>—0.67

.
-

oW

Y

T Tt T 1
-0.7 0.6 0

1
07 <06

This option is not correct.
0.123 > 047

0.123 < 0.400

This option is not correct,
—09 < —0.757

il
)

Y

T T T 1T T T T 1T T T 1
-1 -68 075 0

This option is correct.
The correct statement is —0.9 < —0.75

16 In 1991, Cathy was 16.

Jade was % of 16 or 4.

Years later = 2011 — 1961
=20 '
Cathy’s age in 2011 = 16 + 20
=36

fade’s agein 2011 = 4 + 20 -
=24

Fraction of Cathy’s age = %g

2
3

1 ]
and — have a common denominator of 15.

17 Of the original 60 people, there were 7 adults
for every 5 children.

So 7 out of 12 people were adults.
Now 60 + 12 = 5 so there were 5 lots of

12 people.
Number of adults = 5 X 7
=135
Number of children = 5 X 5
Co =25

If 20 people left the party, 40 remained.

Of the remaining people there were 5 adults .
for every 3 children.
So 5 out of 8 people were adults.
Now 40 + 8 = 5 so there were 5 lots of
8 people.
Number of adults = 5 X 5
=25
Number of children = 5 X 3
=15

Number of adults who left = 35 ~ 25

=10
Number of children who left = 25 — 15

=10

So 10 adults and 10 children left the party.

18 % of the balloons are red and % are blue,
1
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Fraction that is red and blue =

+
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Fraction that is white =
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